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����&�&�/ 
D45>G5= ?D>7D4<<O GG55=>= 4<EF<??<=O 

 �1.�.26 ''���� � ���$�%$�$�  
4?O ?>47>F>6>< 54>4?46D>6  

?> =4?D46?5=<N 05.03.06 ->>?>7<O < ?D<D>4>?>?L7>64=<5,  
=4?D46?5==>EFL �7D>M>>?>7<O 

 
 
&5?L >E6>5=<O 4<EF<??<=O: >E=>6=>= F5?LN 4<EF<??<=O «'G5=<5 > 

7<4D>ED5D5» O6?O5FEO D>D<<D>64=<5 G EFG45=F>6 > ?>=OF<5 < EFDG>FGD5 7<4D>-
ED5DO �5<?<, > E>EF465 < D4E?D545?5=<< 6>4=OE D5EGDE>6 =4 75<=>< L4D5 (6>-
44E �<D>6>7> >>54=4, >D<>ED5DO, D5>, >75D, 5>?>F, 6>4>ED4=<?<M, ?>475<=OE 
6>4 < 6?47< 4F<>ED5DO), > 7?>54?L=>< >DG7>6>D>F5 6>4O 6 ?D<D>45, >5 >E=>6=OE 
74>>=><5D=>EFOE 7<4D>?>7<G5E><E ?D>F5EE>6, > 674<<>E6O7< 7<4D>ED5DO, ?<F>-
ED5DO < 4F<>ED5DO, > 5EF5EF65==OE < 4=FD>?>75==OE D4>F>D4E D>D<<D>64=<O 
6>4 7<4D>ED5DO, 4 F4>65 > D5>4E < D5G=OE E<EF5<4E, > D5G=>< 54EE5==5 < 57> E4-
D4>F5D<EF<>4E, F<?4E ?<F4=<O D5> < D474E 6>4=>7> D56<<4, >E=>6=OE E4D4>F5-
D<EF<>4E < D4>F>D4E D>D<<D>64=<O D5G=>7> EF>>4, > 6=GFD<7>4>6>< D4E?D545-
?5=<< EF>>4 < >?D545?ONM<E 57> D4>F>D4E. 

 
�5EF> 4<EF<??<=O 6 GG55=>< ??4=5: 
�<EF<??<=4 6>?NG5=4 6 547>6GN G4EFL GG55=>7> ??4=4 ?> =4?D46?5=<N 

?>47>F>6>< 05.03.06 ->>?>7<O < ?D<D>4>?>?L7>64=<5. 
 

&D55>64=<O > D57G?LF4F4< >E6>5=<O 4<EF<??<=O: 6 D57G?LF4F5 >E6>5=<O 
4<EF<??<=O D>D<<DGNFEO E?54GNM<5 >><?5F5=F<<: ���-1.2, ���-2.3. 

 
�D4F>>5 E>45D64=<5 4<EF<??<=O: >E=>6=>= 7444G5= 4<EF<??<=O «'G5-

=<5 > 7<4D>ED5D5» O6?O5FEO 44FL EFG45=F4< =5>5E>4<<O5 7=4=<O > 6>44E 7<4D>-
ED5DO �5<?<, D575D6G4D=>= <>45?< 7<4D>ED5DO < 7<4D>?>7<G5E>>< F<>?5, >?4E-
E<D<>4F<< 6>4 7<4D>ED5DO, 5EF5EF65==OE < 4=FD>?>75==OE D4>F>D4E D>D<<D>-
64=<O ?D<D>4=OE 6>4, > D>D<<D>64=<5 7<4D>7D4D<G5E>>= E5F< < D5G=OE E<EF5<, 
> D5G=>< 54EE5==5 < 57> E4D4>F5D<EF<>4E, 6>4=>< 54?4=E5 75<=>7> L4D4 < D5G-
=>7> 54EE5==4, > F<?4E ?<F4=<O D5> < <E 6>4=>< D56<<5, 4 F4>65 >5 >E=>6=OE 
D4>F>D4E < 74>>=><5D=>EFOE D>D<<D>64=<O D5G=>7> EF>>4, <5F>44E D4EG5F4 >E-
=>6=OE E4D4>F5D<EF<> 7>4>6>7> EF>>4 < 57> 6=GFD<7>4>6>7> D4E?D545?5=<O.  

 
�5M4O FDG4>5<>>EFL 4<EF<??<=O E>EF46?O5F 5 74G5F=OE 54<=<F (180 G4-

E>6). 
 
�D><56GF>G=O= >>=FD>?L: M>74<5=. 
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1. &5?L >E6>5=<O 4<EF<??<=O 

&5?LN 4<EF<??<=O «'G5=<5 > 7<4D>ED5D5» O6?O5FEO D>D<<D>64=<5 G EFG-
45=F>6 F5>D5F<G5E><E < ?D4>F<G5E><E 7=4=<= > ?>=OF<5 < EFDG>FGD5 7<4D>ED5DO 
�5<?<, > E>EF465 < D4E?D545?5=<< 6>4=OE D5EGDE>6 =4 75<=>< L4D5 (6>44E �<-
D>6>7> >>54=4, >D<>ED5DO, D5>, >75D, 5>?>F, 6>4>ED4=<?<M, ?>475<=OE 6>4 < 
6?47< 4F<>ED5DO), > 7?>54?L=>< >DG7>6>D>F5 6>4O 6 ?D<D>45, >5 >E=>6=OE 74>>-
=><5D=>EFOE 7<4D>?>7<G5E><E ?D>F5EE>6, > 674<<>E6O7< 7<4D>ED5DO, ?<F>ED5DO 
< 4F<>ED5DO, > 5EF5EF65==OE < 4=FD>?>75==OE D4>F>D4E D>D<<D>64=<O 6>4 7<4-
D>ED5DO, 4 F4>65 > D5>4E < D5G=OE E<EF5<4E, > D5G=>< 54EE5==5 < 57> E4D4>F5-
D<EF<>4E, F<?4E ?<F4=<O D5> < D474E 6>4=>7> D56<<4, >E=>6=OE E4D4>F5D<EF<-
>4E < D4>F>D4E D>D<<D>64=<O D5G=>7> EF>>4, > 6=GFD<7>4>6>< D4E?D545?5=<< 
EF>>4 < >?D545?ONM<E 57> D4>F>D4E. 

2. �5EF> 4<EF<??<=O 6 GG55=>< ?D>F5EE5  
�<EF<??<=4 «'G5=<5 > 7<4D>ED5D5» 6>?NG5=4 6 >5O74F5?L=O= ?5D5G5=L 

$��% �� < >F=>E<FEO > >5O74F5?L=>= G4EF< F<>?4 4<EF<??<= 6G74 (�1.�.26).  
$54?<74F<O FD55>64=<= $��% �� 6 4<EF<??<=5 «'G5=<5 > 7<4D>ED5D5», 

���� �� < 'G55=>7> ??4=4 ?> =4?D46?5=<N ?>47>F>6>< 05.03.06 ->>?>7<O < 
?D<D>4>?>?L7>64=<5 ?> ?D>7D4<<5 $��% ��, ?>76>?<F D5L4FL ?D>D5EE<>=4?L-
=O5 7444G<, <<5FL ?D>D5EE<>=4?L=GN < <<D>6>77D5=G5E>GN =4?D46?5==>EFL; 
>E64FO64FL F5>D5F<G5E><5, ?>7=464F5?L=O5 < ?D4>F<G5E><5 >><?>=5=FO 45O-
F5?L=>EF<, ?>47>F46?<645<>7> 54>4?46D4; ?>47>F46?<64FL 5G4GM57> 54>4?46D4 > 
E4<>>5GG5=<N < E4<>D476<F<N. 

�D54L5EF6GNM<<< >GDE4<<, =4 >>F>DOE =5?>ED54EF65==> 547<DG5FEO 4<E-
F<??<=4 «'G5=<5 > 7<4D>ED5D5» O6?ONFEO «�4F5<4F<>4», «$<7<>4», «�5>7D4-
D<O», «�5>?>7<O E >E=>64<< 7<4D>75>?>7<<», «'G5=<5 >5 4F<>ED5D5». 

�<EF<??<=4 «'G5=<5 > 7<4D>ED5D5» O6?O5FEO >E=>6>?>?474NM5= 4?O <7G-
G5=<O E?54GNM<E 4<EF<??<=: «�?4E=O5 ?D<D>4=O5 < F5E=>75==O5 O6?5=<O», 
«�ED4=4 >>DG64NM5= ED54O», «�<EF4=F<>==>5 7>=4<D>64=<5 6 ?D<D>4>?>?L7>-
64=<5», «�>EEF4=>6?5=<5 6>4=OE >5N5>F>6», «�><??5>E=>5 <E?>?L7>64=<5 6>4-
=OE D5EGDE>6», 4 F4>65 ?D< D45>F5 =44 4<??><=O<< ?D>5>F4<< < 6 ?>E?54GN-
M5= ?D>D5EE<>=4?L=>= 45OF5?L=>EF<: >D74=<74F<>==>-G?D46?5=G5E>>=, =4GG=>-
<EE?54>64F5?LE>>= < ?D><76>4EF65==>-F5E=>?>7<G5E>>=, < ?D>5>F=>=. �E>55=-
=>EFLN 4<EF<??<=O «'G5=<5 > 7<4D>ED5D5» O6?O5FEO <7GG5=<5 6>4=OE D5EGDE>6 
�5<=>< L4D4, 7?>54?L=>7> >DG7>6>D>F4 6>4O 6 ?D<D>45, 674<<>E6O7< 6>4 7<4D>-
ED5DO, 4F<>ED5DO < ?<F>ED5DO, 74>>=><5D=>EF5= 7<4D>?>7<G5E><E ?D>F5EE>6 
6>4>F>>>6 < 6>4>5<>6, >E=>6=OE E4D4>F5D<EF<> < D4>F>D>6 D>D<<D>64=<O D5G-
=>7> EF>>4, 6=GFD<7>4>6>7> D4E?D545?5=<O D5G=>7> EF>>4 < >?D545?ONM<E 57> 
D4>F>D>6.  

$45>G4O ?D>7D4<<4 4<EF<??<=O «'G5=<5 > 7<4D>ED5D5» 4?O <=64?<4>6 < 
?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO D47D454FO645FEO <=4<6<4G4?L=> 
E GG5F>< >E>55==>EF5= ?E<E>D<7<G5E>>7> D476<F<O, <=4<6<4G4?L=OE 6>7<>6=>-
EF5= < E>EF>O=<O 74>D>6LO F4><E >5GG4NM<EEO. 
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3. �5D5G5=L ??4=<DG5<OE D57G?LF4F>6 >5GG5=<O ?> 4<EF<??<=5, 
E>>F=5E5==OE E ??4=<DG5<O<< D57G?LF4F4<< >E6>5=<O >5D47>64F5?L=>= 

?D>7D4<<O 
�7GG5=<5 44==>= GG55=>= 4<EF<??<=O =4?D46?5=> =4 D>D<<D>64=<5 G 

>5GG4NM<EEO >><?5F5=F<=, ?D54EF46?5==OE 6 F45?<F5 1. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
 
 

&45?<F4 1 

 
&D55>64=<O > D57G?LF4F4< >E6>5=<O GG55=>= 4<EF<??<=O 

 

7 
?/? 

�>4  
>><?5-
F5=F<< 

%>45D64=<5  
>><?5F5=F<< (<?< 5U 

G4EF<) 
�=4<>4F>DO >><?5F5=F<= 

� D57G?LF4F5 <7GG5=<O GG55=>= 4<EF<??<=O >5GG4NM<5EO 4>?6=O: 

7=4FL G<5FL 6?445FL 

1. ���-1 %?>E>55= ?D<<5=OFL 
547>6O5 7=4=<O 
DG=44<5=F4?L=OE 
D4745?>6 =4G> > 
�5<?5, 5EF5EF65==>-
=4GG=>7> < <4F5<4-
F<G5E>>7> F<>?>6 
?D< D5L5=<< 7444G 6 
>5?4EF< M>>?>7<< < 
?D<D>4>?>?L7>64=<O 

���-1.2 '<5FL ?D<<5=OFL 
547>6O5 7=4=<O DG=44<5=-
F4?L=OE =4G> > �5<?5 ?D< D5-
L5=<< 7444G 6 >5?4EF< M>>?>-
7<< < ?D<D>4>?>?L7>64=<O E 
?D<<5=5=<5< F<DD>6OE <=EFDG-
<5=F>6 < F5E=>?>7<= 

�>=OF<5 < EFDG>FGDG 
7<4D>ED5DO �5<?<, 
<5D4DE<G5E>GN >?4EE<-
D<>4F<< 6>4 7<4D>ED5-
DO; ?>=OF<5 7<4D>?>7<-
G5E>>7> F<>?4, 6>4O <>-
D5= < >>54=>6, 6>4O 
>D<>ED5DO, >E=>6=O5 
7<4D>?>7<G5E><5 ?D>-
F5EEO 6>4>F>>>6 < 6>4>-
5<>6 (D5>, >75D, 5>?>F, 
6>4>ED4=<?<M). 

�F5=<FL 6?<O=<5 >?<<4F<-
G5E><E, D<7<>>-
75>7D4D<G5E><E < 4=FD>?>-
75==OE D4>F>D>6 =4 6D5-
<5==O5 <7<5=5=<O D5G=>7> 
EF>>4. 

�5F>44<< EF4F<EF<G5-
E>>= >5D45>F>< < 4=4?<74 
7<4D>?>7<G5E>>= <=D>D-
<4F<< ?D< >5>E=>64=<< 
>?<<4F<G5E>< >5GE?>6-
?5==OE <7<5=5=<OE 6>4-
=>7> D56<<4 D5>.. 

2. ���-2 %?>E>55= <E?>?L7>-
64FL F5>D5F<G5E><5 
>E=>6O M>>?>7<<, 
75>M>>?>7<<, ?D<D>-
4>?>?L7>64=<O, 
>ED4=O ?D<D>4O < 
=4G> >5 >>DG64N-
M5= ED545 6 ?D>D5E-
E<>=4?L=>= 45O-
F5?L=>EF< 

���-2.3 �<5FL =46O>< ?D<-
<5=5=<O =4 ?D4>F<>5 F5>D5F<-
G5E><E >E=>6 M>>?>7<<, 75>-
M>>?>7<<, ?D<D>4>?>?L7>64-
=<O, >ED4=O ?D<D>4O < =4G> 
>5 >>DG64NM5= ED545 

�E=>6O 7<4D>?>7<G5E><E 
< 7<4D><5F5>D>?>7<G5-
E><E ?D>F5EE>6, ?D>F5-
>4NM<E =4 6>4>E5>D=OE 
F5DD<F>D<OE >DG?=OE, 
ED54=<E < <4?OE D5G=OE 
54EE5==>6. 

�O?>?=OFL ?D4>F<G5E><5 
7444=<O ?> D47?<G=O< 
D4745?4< 4<EF<??<=O, 
4=4?<7<D>64FL D57G?LF4-
FO ?D4>F<G5E><E 7444-
=<=, ?>?=> < ?>7<G=> <7-
?474FL >E6>5==O= GG55-
=O= <4F5D<4?. 

�5F>44<< D4EG5F4 >E-
=>6=OE 7<4D>?>7<G5E><E 
E4D4>F5D<EF<> D5G=>7> 
EF>>4 ?D< =4?<G<< <=>-
7>?5F=<E 7<4D><5FD<G5-
E><E 44==OE =45?N45-
=<=. 

 



 
4. %FDG>FGD4 < E>45D64=<5 4<EF<??<=O 

 
4.1 $4E?D545?5=<5 FDG4>U<>>EF< 4<EF<??<=O ?> 6<44< D45>F ?> 

E5<5EFD4< 
�5M4O FDG4>U<>>EFL 4<EF<??<=O E>EF46?O5F 5 74G5F=OE 54<=<FO (180 G4-

E4), <E D4E?D545?5=<5 ?> 6<44< D45>F < E5<5EFDG ?D54EF46?5=> 6 F45?<F5 2.  
 

&45?<F4 2 
$4E?D545?5=<5 FDG4>U<>>EF< 4<EF<??<=O ?> 6<44< D45>F ?> E5<5EFD4<  

�<4 GG55=>= D45>FO 

&DG4>U<>>EFL 

G4E. 
6 F.G. ?> E5-

<5EFDG   
73 

�5M4O FDG4>U<>>EFL 4<EF<??<=O ?> GG55=><G ??4=G 180 180 
1. �>=F4>F=4O D45>F4: 86,4 86,4 
�G4<F>D=4O D45>F4 86,4 86,4 
6 F>< G<E?5: 
?5>F<< (�) 34 34 
?D4>F<G5E><5 74=OF<O (��) 50 50 
>>=EG?LF4F<<  ?5D54 M>74<5=>< 2 2 
>>=F4>F=4O D45>F4 =4 ?D><56GF>G=>< >>=FD>?5 (�$�) 0,4 0,4 
2. %4<>EF>OF5?L=4O D45>F4 (%$%) 69 69 
$4EG5F=>-7D4D<G5E>4O D45>F4 ($�$) 30 30 
E4<>EF>OF5?L=>5 <7GG5=<5 D4745?>6, E4<>?>47>F>6>4 (?D>-

D45>F>4 < ?>6F>D5=<5 ?5>F<>==>7> <4F5D<4?4 < <4F5D<4?4 

GG55=<>>6 < GG55=OE ?>E>5<=, ?>47>F>6>4 > ?45>D4F>D=O< < 

?D4>F<G5E><< 74=OF<O< < F.4.) 

39 39 

�>47>F>6>4 > M>74<5=G (>>=FD>?L) 24,6 24,6 
�<4 ?D><56GF>G=>7> >>=FD>?O: ->74<5= 
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4.2 %>45D64=<5 4<EF<??<=O  

&45?<F4 3 
&5<4F<G5E><= ??4= GG55=>= 4<EF<??<=O 

 

�4<<5=>64=<5 D4745?>6 < F5< 
4<EF<??<= (G>DG?=U=>) 

�E57> 
�G4<F>D=4O D45>F4 

�=54G4<F>D
=4O D45>F4 

%$ 
� �� ��$ 

&5<4 1. �D54<5F < 7444G< 4<EF<??<=O. 8 2 2  4 
&5<4 2. �5M<5 E6545=<O > 6>44E 7<4D>-
ED5DO. 

12 2 4  6 

&5<4 3. �EF5EF65==O5 < 4=FD>?>75==O5 
D4>F>DO D>D<<D>64=<O 6>4 7<4D>ED5DO. 

11 2 4  5 

&5<4 4. �E?4D5=<5. 16 4 6  6 
&5<4 5. �F<>ED5D=O5 >E44><. 14 4 4  6 
&5<4 6. �>4O >D<>ED5DO 14 2 6  6 
&5<4 7. �74<<>45=EF6<5 >>54=4 < 4F<>ED5-
DO 

8 2 -  6 

&5<4 8. $5G=O5 E<EF5<O < 7<4D>7D4D<G5-
E>4O E5FL 

18 4 6  8 

&5<4 9. $5G=>= EF>>. 20 4 6  10 
&5<4 10. �75D4 < 6>4>ED4=<?<M4. 16 4 6  6 
&5<4 11. �>4=O= 54?4=E < 57> <7<5=5=<5. 16 4 6  6 
�>=EG?LF4F<<  ?5D54 M>74<5=>< 2,0 - - 2,0 - 
�>=F4>F=4O D45>F4 =4 ?D><56GF>G=>< 
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?>65DE=>EF< EGL<. 
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?4D5=<O E ?>65DE=>EF< D5G=>-
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�5>F<O 711. �>4=O= 54?4=E 
< 57> <7<5=5=<5. �DG7>6>D>F 
6>4O =4 �5<=>< L4D5. �?>-
54?L=O= 6>4>>5<5=. �>4=O= 
54?4=E 75<=>7> L4D4. �>4-
=O= 54?4=E D5G=OE 54EE5=-
=>6. -?5<5=FO 6>4=>7> 54-
?4=E4 D5G=>7> 54EE5==4 6 
GE?>6<OE 7?>54?L=OE < D57<-
>=4?L=OE <7<5=5=<=.  

���-1.2, 
���-2.3 

 

4 

�D4>F<G5E>>5 74=OF<5 710. 
�=4?<7 6D5<5==OE <7<5=5-
=<O M?5<5=F>6 6>4=>7> 54-
?4=E4 (4F<>ED5D=O5 >E44><, 
D5G=>= EF>> < EG<<4D=>5 <E-
?4D5=<5) D5G=>7> 54EE5==4. 

���-1.2, 
���-2.3 

�4M<F4 $�$. 

6 
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&45?<F4 5 
�5D5G5=L 6>?D>E>6 4?O E4<>EF>OF5?L=>7> <7GG5=<O 4<EF<??<=O 

7 
?/? 

7 D4745?4 < F5<O 
�5D5G5=L D4EE<4FD<645<OE 6>?D>E>6 4?O E4<>EF>OF5?L=>7> 

<7GG5=<O 
1.  &5<4 1. 

�D54<5F < 7444G< 
4<EF<??<=O 

 �5M<5 E6545=<O > 7<4D>ED5D5 �5<?<. �D><EE>645=<5 < D>D-
<<D>64=<5 6>4 7<4D>ED5DO (���-1.2, ���-2.3). 

2. &5<4 2. 
�5M<5 E6545=<O > 
6>44E 7<4D>ED5DO. 

�?4EE<D<>4F<O 6>4=OE >5N5>F>6. �<D>6O5 74?4EO 6>4O. �<-
D>6>= >>54= < 57> ?>4D4745?5=<O. �>=F<=5=F4?L=O5 ?>65DE-
=>EF=O5 6>4O.  $5><. �75D4. �>4>ED4=<?<M4. �>?>F4. �54=<><. 
�>475<=O5 6>4O (���-1.2, ���-2.3). 

3. &5<4 3. �EF5EF65=-
=O5 < 4=FD>?>75==O5 
D4>F>DO D>D<<D>64-
=<O 6>4 7<4D>ED5DO 

�?<<4F>>5D47GNM<5 D4>F>DO. �>=4?L=>EFL < ?D<D>4=O5 7>=O 
�5<?<. �=FD>?>75==O5 D4>F>DO (���-1.2, ���-2.3). 

4. &5<4 4. �E?4D5=<5 �E?4D5=<5 E ?>65DE=>EF< 6>4O, E=574, ?L44, ?>G6O < D4EF<F5?L-
=>EF<. %G<<4D=>5 <E?4D5=<5 E 75<=>= ?>65DE=>EF<. �E=>6=O5 
?D<5>DO < <5F>4O 4?O <7<5D5=<O 65?<G<=O <E?4D5=<O E 6>4O < 
?>G6O. �5F>4O D4EG5F4 EG<<4D=>7> <E?4D5=<O E 75<=>= ?>-
65DE=>EF< (���-1.2, ���-2.3) . 

5. &5<4 5. �F<>ED5D-
=O5 >E44>< 

�F<>ED5D=O5 >E44><. �?4EE<D<>4F<O >E44>>6. %=56=O= ?>-
>D>6, 57> E4D4>F5D<EF<><. �>4>6>= E>4 >E44>>6. �D<5>DO < <5-
F>4O <7<5D5=<O >E44>>6 (���-1.2, ���-2.3).  

6. 
 
 
 

&5<4 6. 
�>4O >D<>ED5DO 
 
 

�54=<><. �5D47>64=<5 ?54=<>>6. %4D4>F5D<EF<>< E>6D5<5==OE 
?54=<>>6. $45>F4 ?54=<>>6. �>DE><5 ?L4O, <E >?4EE<D<>4F<O. 
�54=<>>6O= ?5D<>4 < <>DE><5 ?L4O (���-1.2, ���-2.3). 

7. &5<4 7. �74<<>45=-
EF6<5 >>54=4 < 4F<>-
ED5DO. 
 
 

$>D<<D>64=<5 <EF>G=<>>6 < EF>>>6 4F<>ED5D=>= 6?47<. �?47>-
>5>D>F =44 >>=F<=5=F4<<. �?47>>5>D>F =44 >>54=><. &5??>6>= 
54?4=E >>54=4 < E<EF5<O >>54=-4F<>ED5D4. �47>>5<5= 6 E<EF5<5 
>>54=-4F<>ED5D4 (���-1.2, ���-2.3).  

8. &5<4 8. $5G=O5 E<-
EF5<O < 7<4D>7D4D<-
G5E>4O E5FL. 

�>4>E5>DO. �>DD><5FD<G5E><5 E4D4>F5D<EF<>< 6>4>E5>D4. 
$<7<>>-75>7D4D<G5E><5 E4D4>F5D<EF<>< 6>4>E5>D4. �>?<=4, 
?>=<4, DGE?4 D5><. -?ND4 E>>D>EF<. �5EF=O= E>>D>EFL. $4EE>4 
6>4O. �5N5<, <>4G?L < E?>O EF>>4. �?D545?5=<5 
7<4D>7D4D<G5E><E E4D4>F5D<EF<> D5><, D5G=>= E<EF5<O < 
D5G=>7> 54EE5==4 (���-1.2, ���-2.3). 

9. &5<4 9. $5G=>= EF>>. $5G=>= EF>>, D4>F>DO 57> D>D<<D>64=<O. �E=>6=O5 
E4D4>F5D<EF<>< EF>>4. �>D<4 7>4>6>7> EF>>4. �?D545?5=<5 
7>4>6>7> EF>>4 ?> <=>7>?5F=5<G DO4G =45?N45=<=. �F5=>4 
D5?D575=F4F<6=>EF< < >4=>D>4=>EF< DO44 (���-1.2, ���-2.3).. 

10. &5<4 10. �75D4 < 6>-
4>ED4=<?<M4 

�D><EE>645=<5 >75D. �>DD><5FD<O >75D4. �<F4=<5 >75D < 6>4-
=O= 54?4=E. �<=4<<G5E><5 O6?5=<O 6 >75D4E. �<4D>E<<<O >75D. 
�>4>ED4=<?<M4, =47=4G5=<5, EFD>5=<5 < <E?>?L7>64=<5 (���-
1.2, ���-2.3). . 

11. &5<4 11.  �>4=O= 
54?4=E < 57> <7<5=5-
=<5. 

�>4=O5 D5EGDEO < 6>4=O= 54?4=E 75<=>7> L4D4, EFD4=O, D5G=>-
7> 54EE5==4. �5M<5 ?D54EF46?5=<O > 6>4=>< 54?4=E5. �5F>4O 
7<4D>?>7<G5E><E <EE?54>64=<=. �?<<4F<G5E><5 <7<5=5=<O < 
D>D<<D>64=<5 M?5<5=F>6 6>4=>7> 54?4=E4 D5G=>7> 54EE5==4 6 
E>6D5<5==OE GE?>6<OE (���-1.2, ���-2.3). 
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5. �5D47>64F5?L=O5 F5E=>?>7<<  
&45?<F4 6 

�D<<5=5=<5 4>F<6=OE < <=F5D4>F<6=OE >5D47>64F5?L=OE F5E=>?>7<= 
 

7 
?/? &5<4 < D>D<4 74=OF<O 

�4<<5=>64=<5 <E?>?L7G5-
<OE 4>F<6=OE < <=F5D4>-
F<6=OE >5D47>64F5?L=OE 

F5E=>?>7<= 
1 &5<4 8. $5G=O5 E<EF5<O < 7<4-

D>7D4D<G5E>4O E5FL. 
� 
 

�5>F<O-55E544. 

2 &5<4 9. $5G=>= EF>>. �F5=>4 
F<>?<G5E><E <7<5=5=<= 6 <=>-
7>?5F=<E >>?554=<OE 7>4>6>7> 
EF>>4 =4 >E=>65 D47=>EF=>= <=-
F57D4?L=>= >D<6>= 

�� �D4>F<G5E>>5 74=OF<5 E <=-
4<6<4G4?L=O< 7444=<5< 

 
6. &5>GM<= >>=FD>?L GE?5645<>EF< < ?D><56GF>G=4O 4FF5EF4F<O ?> <F>74< 

>E6>5=<O 4<EF<??<=O 

6.1. &<?>6O5 >>=FD>?L=O5 7444=<O <?< <=O5 <4F5D<4?O, =5>5E>4<<O5 
4?O >F5=>< 7=4=<=, G<5=<= < =46O>>6 < (<?<) >?OF4 45OF5?L=>EF<  

&5EF>6O5 7444=<O 4?O F5>GM57> >>=FD>?O 7=4=<=  
?> 4<EF<??<=5 «'G5=<5 > 7<4D>ED5D5» 

 
1. � 6>4=O< >5N5>F4< =5 >F=>E<FEO:  

 1) 6>4>F>>; 
 2) 6>4>5<;  
 3) 6>4>E5>D 
 

2. �4>>= ?D>F5EE E4D4>F5D<7G5FEO >4> «?D>E4G<64=<5 6>4 6 ?>G6G»:  
1) <=D<?LFD4F<O;  
2) FD4=E?<D4F<O;  
 

      3. �?46=O= 6>4>D4745? 75<=>7> L4D4 3 MF>: 
           1) =G?56>= <5D<4<4=;  
           2) GE?>6=4O ?<=<O, D4745?ONM4O EGLG =4 464 E>?>=4;  
           3) M>64F>D 
 
       4. �4 4>?N �<D>6>7> >>54=4 6 >5M5< 74?4E5 6>4O =4 �5<?5 ?D<E>4<FEO:  
  1) 75,3 %; 

2) 96,4 %;  
3) 92,7 % 
 

         5. �4><5 <7 ?5D5G<E?5==OE E4D4>F5D<EF<> 6>4=OE >5N5>F>6 >F=>EOFEO >   
             <>DD><5FD<G5E><<: 

 1) E>>D>EFL ?>F>>4, D4EE>4 6>4O, >>MDD<F<5=F EF>>4;  
 2) ??>M44L 6>4=>= ?>65DE=>EF<, <4>E<<4?L=4O 7?G5<=4, 4?<=4; 
 3) <GF=>EFL, E>?5=>EFL, <<=5D4?<74F<O 
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6. �<4D>ED5D4 6>?NG45F 6 E55O 6>4O:  
1) 4F<>ED5DO, 5<>ED5DO, EFD4F>ED5DO;  
2)  ?>G65==O5 < 7DG=F>6O5;  
3)  4F<>ED5DO, <<D>6>7> >>54=4, D5>, >7UD, 5>?>F, ?54=<>>6, ?>G65==O5 < 

7DG=F>6O5. 
 

7. '<E?> D575D6G4D>6 6 <>45?< �<4D>ED5DO: 
 1) - 3;  
 2) - 4;  
 3) - 5; 
 4) - 6. 
 
 
8. �?474 E>45D6<FEO 6 E?>5 4F<>ED5DO: 

 1) FD>?>ED5D5;  
 2) EFD4F>ED5D5;  
 3) <57>ED5D5. 
 

9. $5?L5D �5<?< (<4F5D<>>6 < >>54=>6) >FD4645FEO >D<6>=:  
1) 7<?E>7D4D<G5E>>=;  
2) 54F<7D4D<G5E>>=;  
3) <>DD>?>7<G5E>>=. 
 
10. %4<O5 5>?LL<5 74?4EO 6>4O 6 F6UD4>= D475 =4 �5<?5 E>45D64FEO 6: 

 1) ?54=<>4E �=F4D>F<4O;  
 2) ?54=<>4E �D5=?4=4<<;  
 3) 7>D=OE ?54=<>4E;  
 4) <=>7>?5F=5<UD7?OE ?>D>44E (65G=>= <5D7?>F5); 
 5) <>DE>>< ?L45. 
 

11. �F<>ED5D4 E>45D6<F 6>4G 6 F4><E 47D574F=OE E>EF>O=<OE:  
1) ?4D>>5D47=>5;  
2) 6<4>>5 < F6UD4>5;  
3) ?4D>>5D47=>5, 6<4>>5 < F6UD4>5. 
 

12. �D>F5EE ?5D5E>44 6>4O <7 6<4>>7> E>EF>O=<O 6 ?4D>>5D47=>5:  
1) <E?4D5=<5;  
2) 6>77>=>4;  
3) EG5?<<4F<O. 
 

13. �D>F5EE ?5D5E>44 6>4O <7 F6UD4>7> E>EF>O=<O 6 ?4D>>5D47=>5: 
 1) <E?4D5=<5;  
2) 6>77>=>4;  
3) EG5?<<4F<O. 
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14. �D>F5EE ?5D5E>44 6>4O <7 ?4D>>5D47=>7> E>EF>O=<O 6 F6UD4>5:  
1) <E?4D5=<5; 
 2) 6>77>=>4;  
3) EG5?<<4F<O. 
 

15. �<D>6>= >>54= =5 6>?NG45F 6 E55O >>54=O: 1) %565D=O=; 2) �F?4=F<G5-
E><=; 3) &<E<=; 4) �=4<=E><=. 
 

16.  '<E?> >>54=>6 6 �<D>6>< >>54=5: 
 1) 3;  
2) 4;  
3) 5;  
4) 6. 
 

17.  � �<D>6><G >>54=G =5 >F=>E<FEO:  
 1) %565D=>5 <>D5; 
 2) 'UD=>5 <>D5; 
 3) �4E?<=E>>5 <>D5;  
 4) �7>6E>>5 <>D5. 
 
18.  ' >4>>7> <>DO E4<4O 5>?LL4O E>?U=>EFL:  

1) �5?>5; 
 2) 'UD=>5;  
3) �D4E=>5. 
 

19.  �>EF>O==> < ?5D<>4<G5E>< 45=EF6GNM<5 6>4>F>>< >5D47GNF E5FL:  
1) DGE?>6GN;  
2) D5G=GN;  
3) 7<4D>7D4D<G5E>GN. 
 

20. �<=<O, E>54<=ONM4O E4<O5 7?G5>><5 F>G>< ?>64 D5G=>= 4>?<=O: 
 1) 5D>6>4; 
 2) F4?L657;  
3) DGE?>. 
 

21. � E>EF46 D5G=>= 4>?<=O =5 6E>4OF:  
1) F5DD4E4;  
2) ?>=<4;  
3) DGE?>;  
4) <EF>>;  
5) >4=L>=. 
 

22. $5>4 6 <565=L ?<F45FEO ?D5<<GM5EF65==>: 
 1) 4>6456O<< 6>44<<;  
 2) F4?O<< 6>44<<;  
 3) ?>475<=O<< 6>44<<. 



 19

 
23. $5>4 6 ?>?>6>4L5 ?<F45FEO ?D5<<GM5EF65==>:  

1) 4>6456O<< 6>44<<;  
2) F4?O<< 6>44<<;  
3) ?>475<=O<< 6>44<<. 
 

24.  �=>7>>D4F=> < =5D57G?OD=> ?>6F>DONM55EO 6 F5G5=<5 7>44 >D4F>>6D5-
<5==>5 G65?<G5=<5 6>4=>EF< =47O645FEO: 
 1) ?>?>6>4L5;  
 2) ?46>4>>;  
 3) <565=L. 
 

25. �>4>6>= EF>> MF>:  
1) >>?<G5EF6> 6>4O, ?D>F5>4NM55 G5D57 ?>?5D5G=>5 E5G5=<5 D5><;  
2) >>?<G5EF6> 6>4O, EF5>4NM55 E ?>65DE=>EF< D5G=>7> 54EE5==4 74 7>4;  
3) 46<65=<5 6>4O ?> ?>65DE=>EF< 75<?<. 
 

26.  $5G=>= 54EE5== MF>: 
 1) 7?46=4O D5>4 < 5U ?D<F>><;  
 2) E>6>>G?=>EFL 6>4>F>>>6 6 ?D545?4E F5DD<F>D<<;  
 3) G4EFL 75<=>= ?>65DE=>EF<, 6>?NG4O F>?MG ?>G6>7DG=F>6, E >>F>D>= 
D5>4 ?>?GG45F ?<F4=<5. 
 

27. �?O D4EGUF4 <E?4D5=<O E 6>4=>= ?>65DE=>EF< =5F =5>5E>4<<>EF< 7=4FL:  
1) E>>D>EFL 65FD4;  
2) 45D<F<F 6?46=>EF< 6>74GE4 ?D< F5<?5D4FGD5 6>4=>= ?>65DE=>EF<; 3) 
F5<?5D4FGD4 6>74GE4;  
4) GD>65=L 6>4O;  
5) F5<?5D4FGD4 6>4=>= ?>65DE=>EF<. 
 

28.  �4<=<FO <7<5D5=<O >E44>>6:  
1) >7;  
2) 7/<2;  
3) <<. 

 
29. 'D46=5=<5 6>4=>7> 54?4=E4 4?O D5G=>7> 54EE5==4 (R-EF>>; P 3 >E44><; 
E-<E?4D5=<5):  
1) R=P-E±dW;  
2) P=R-E;  
3) E=P+R. 
 
30. 'D46=5=<5 6>4=>7> 54?4=E4 4?O 75<=>7> L4D4 74 <=>7>?5F=<= ?5D<>4 
(R-EF>>; P 3 >E44><; E-<E?4D5=<5):  
1) R=P-E;  
2) P=R-E;  
3) E=P+R. 
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31. � 4=FD>?>75==O< D4>F>D4< EF>>4 >F=>E<FEO:  
 1) 6>4>ED4=<?<M5;  
 2) >E44><; 
 3) <E?4D5=<5. 
32. � 4=FD>?>75==O< D4>F>D4< EF>>4 =5 >F=>E<FEO:  
 1) 6>4>ED4=<?<M5;  
 2) 6>4>745>D; 
 3) <E?4D5=<5. 
33. � ?>EFG?4NM<< 46<65=<O< 6 >75D5 >F=>E<FEO:  
1) E5=L<; 
 2) 6>?=4; 
 3) F5G5=<5. 
34. � >>?554F5?L=O< 46<65=<O< 6 >75D5 >F=>E<FEO: 
 1) E5=L<;  
2) E7>=O-=47>=O;  
3) ?5D5<5L<64=<O. 

 
�D<<5D=4O F5<4F<>4 D4EG5F=>-7D4D<G5E>>= D45>FO  

 
&5<4: «�<4D>?>7<G5E><5 >E>55==>EF< <EE?54G5<>7> 54EE5==4 D5><» 
�5N5>F <EE?54>64=<O 3 D5G=>= 54EE5== 6O5<D45FEO EFG45=F>< <7 ?D54EF46-

?5==OE 64D<4=F>6. 
 

�5D5G5=L ?>4?564M<E D47D45>F>5 6>?D>E>6: 
1. $<7<>>-75>7D4D<G5E><5 >E>55==>EF< 54EE5==4 D5><.  
2. �?<<4F<G5E><5 D4>F>DO D>D<<D>64=<O D5G=>7> EF>>4. 
3. �>DD><5FD<G5E><5 E4D4>F5D<EF<>< 54EE5==4 D5><. 
4. �>?<G5EF65==O5 <7<5=5=<O E4D4>F5D<EF<> 6>4=>EF< D5><. 
5. %>7O=EF65==>5 <E?>?L7>64=<O 6>4=OE D5EGDE>6 54EE5==4 D5><. 

�>=FD>?L=O5 6>?D>EO 4?O F5>GM57> >>=FD>?O 
1. �>4=O5 D5EGDEO, <E 7=4G5=<5 < D>?L 6 ?D<D>45 < E>7O=EF65. 
2. �DG7>6>D>F 6>4O =4 �5<=>< L4D5. 
3. �>4=O= 54?4=E 75<=>7> L4D4, D5G=>7> 54EE5==4. �E=>6=O5 M?5<5=FO 

6>4=>7> 54?4=E4. 
4. �>4O �<D>6>7> >>54=4. 
5. �EF5EF65==O5 < 4=FD>?>75==O5 D4>F>DO D>D<<D>64=<O 6>4 7<4D>-

ED5DO. 
6. $575D6G4D=4O <>45?L 7<4D>ED5DO �5<?<. 
7. �?4EE<D<>4F<O 6>4 7<4D>ED5DO. 
8. �<4O <E?4D5=<O. 
9. $4>F>DO D>D<<D>64=<O ?D>F5EE4 <E?4D5=<O. 
10. $4EG5F=O5 <5F>4O >?D545?5=<O EG<<4D=>7> <E?4D5=<O. 
11. �F<>ED5D=O5 >E44><, <E >?4EE<D<>4F<O. 
12. $5G=>= 54EE5==, 57> E4D4>F5D<EF<><. 
13. $5G=>= EF>>, D4>F>DO D>D<<D>64=<O D5G=>7> EF>>4. 
14. �<4D>?>7<G5E><5 D4EG5FO, <E F5?L < 7444G<. 
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15. �>4>6>= EF>> < 57> E4D4>F5D<EF<><. 
16. �>D<4 7>4>6>7> EF>>4, <5F>4O 55 >?D545?5=<O 6 746<E<<>EF< >F 

=4?<G<O 7<4D><5FD<G5E>>= <=D>D<4F<<.  
17.  �55E?5G5==>EFL 7<4D>?>7<G5E>>= E4D4>F5D<EF<><. �D<6O5 >55E?5-

G5==>EF<. �D444F<O 6>4=>EF< D5G=>7> EF>>4. 
18.  �<F4=<5 < 6>4=O= D56<< D5>. 
19.  �=GFD<7>4>6>5 D4E?D545?5=<5 D5G=>7> EF>>4. �E=>6=O5 <5F>4O 

D4EG5F4. 
 

�>?D>EO > M>74<5=G 
 

1. %FD>5=<5 7<4D>7D4D<G5E>>= E5F< 54EE5==4. �<4D>7D4D<G5E><5 E4D4>F5D<EF<-
>< D5G=>= E<EF5<O.  
2. �>65DE=>EF=O= < ?>475<=O= 6>4>E5>DO. %4D4>F5D<EF<>< D5G=>7> 54EE5==4. 
$5G=4O 4>?<=4.  
3. �>?LL>=, <4?O= < 6=GFD<>>=F<=5=F4?L=O= 6?47>>5>D>F 6>4O =4 75<?5. �>4-
=O5 D5EGDEO < 6>4=O= 54?4=E 75<=>7> L4D4, >>=F<=5=F4 < EFD4=O. �>4=O= 54-
?4=E D5G=>7> 54EE5==4.  
4. �>4O �<D>6>7> >>54=4. 
5. $5G=>= 54EE5== < 57> E4D4>F5D<EF<><. 
6. �>4=O= 54?4=E D5G=>7> 54EE5==4. 
7. $5><. $GE?>64O, D5G=4O, 7<4D>7D4D<G5E>4O E5FL. 
8. $5G=4O 4>?<=4 < 55 765=LO. 
9. �>DD><5FD<G5E><5 E4D4>F5D<EF<>< < D<7<>>-75>7D4D<G5E><5 GE?>6<O D5G=OE 
E<EF5<.  
10. $<7<>>-75>7D4D<G5E><5 D4>F>DO D5G=>7> EF>>4. 
11. �EF5EF65==O5 < 4=FD>?>75==O5 D4>F>DO D>D<<D>64=<O 6>4 7<4D>ED5DO. 
12. $47O 6>4=>7> D56<<4 D5>. 
13. �5D4DE<G5E>4O >?4EE<D<>4F<O 6>4 7<4D>ED5DO. �65=LO 7<4D>?>7<G5E>>7> 
F<>?4. 
14. �75D4, <E ?D><EE>645=<5. �>DD><5FD<G5E><5 E4D4>F5D<EF<>< >75D. 
15. �>4=O= 54?4=E D5G=>7> 54EE5==4 < D>D<<D>64=<5 D5G=>7> EF>>4. 
16. �>4O >D<>ED5DO: ?54=<>>6O5 ?>>D>6O, 7>D=O5 ?54=<><, <>DE>>= ?54, 7>=O 
<=>7>?5F=5<5D7?OE ?>D>4. 
17. �5F>4O D4EG5F4 <E?4D5=<O E 6>4=>= ?>65DE=>EF< (D>D<G?O ���, �4=5D4) < 
E ?>65DE=>EF< E=574 < ?L44 (D>D<G?4 �.�. �G7L<<=4). 
18. �EF5EF65==O5 D4>F>DO D>D<<D>64=<O 6>4 7<4D>ED5DO. 
19. �<4D>?>7<G5E><= F<>? < D575D6G4D=4O <>45?L 7<4D>ED5DO. 
20. �>=OF<5 > 7<4D>ED5D5 < 55 E>EF46?ONM<E. �D54<5F «'G5=<5 > 7<4D>ED5D5». 
21. �46<E<<>EFL 6>4=>EF< D5> >F >?<<4F<G5E><E D4>F>D>6 < E6>=EF6 6>4>E5>D>6. 
22. �><??5>E=O= <5F>4 D4EG5F4 <E?4D5=<O E ?>65DE=>EF< EGL< (?>G6O). 
23. $<7<>>-75>7D4D<G5E><5 GE?>6<O < <>DD><5FD<G5E><5 E4D4>F5D<EF<>< D5G-
=OE E<EF5< < <E G4EF5= (6>4>E5>D4, 4>?<=O, DGE?4). 
24. �<4O ?<F4=<O D5>. $4EG?5=5=<5 7<4D>7D4D4 ?> <EF>G=<>4< ?<F4=<O. 
25. %FD>5=<5 D5G=>= 4>?<=O. 
26. �>?5D5G=>5 E5G5=<5 DGE?4 < 57> E4D4>F5D<EF<><. 
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27. 'D46=5=<5 6>4=>7> 54?4=E4 7<4D>ED5DO. 
28. �=FD>?>75==O5 D4>F>DO D>D<<D>64=<O 6>4 7<4D>ED5DO, 6 F>< G<E?5, 4=FD>-
?>75==O5 <7<5=5=<O >?<<4F4. 
29. $4EG5F=O5 <5F>4O >?D545?5=<O EG<<4D=>7> <E?4D5=<O (GD46=5=<O E6O7< 
6>4=>7> < F5??>6>7> 54?4=E4, FGD5G?5=F=>= 4<DDG7<<). 
30. �E?4D5=<5, 57> EF44<< < 6<4O. $4>F>DO D>D<<D>64=<O ?D>F5EE4 <E?4D5=<O. 
31. �=EFDG<5=F4?L=O5 <5F>4O <7<5D5=<O <E?4D5=<O E 6>4=>= ?>65DE=>EF< < 
?>G6O. 
32. �E?4D5=<5  E 6>4=>= ?>65DE=>EF< < 57> D4>F>DO. 
33. $47O 6>4=>7> D56<<4. �?4EE<D<>4F<O D5> ?> <EF>G=<>4< ?<F4=<O (�.�. 
�L6>6<G4) < 6=GFD<7>4>6>7> D4E?D545?5=<O EF>>4 (�.�. �4=>>6). 
34. �>4O EGL< < ?5D<>4O <E 6>7>5=>6?5=<O. 
35. $5G=>= 54EE5==. $5G=4O 4>?<=4 < 55 765=LO. 
36. �E?4D5=<5 E ?>65DE=>EF< E=574 < ?L44. �E?4D5=<5 E ?>G6O. &D4=E?<D4F<O. 

6.2. �?<E4=<5 ?>>474F5?5= < >D<F5D<56 >>=FD>?O GE?5645<>EF<, 
>?<E4=<5 L>4? >F5=<64=<O 

�D<F5D<< >F5=>< 7=4=<= EFG45=F>6 ?D< E44G5 M>74<5=4 

�F5=>G=O5 ED54EF64 F5>GM57> >>=FD>?O GE?5645<>EF< < ED>D<<D>64==>-
EF< >><?5F5=F<=. 

�?O >F5=>< 7=4=<=, G<5=<=, =46O>>6 < D>D<<D>64=<O >><?5F5=F<< ?> 4<E-
F<??<=5 ?D<<5=O5FEO FD44<F<>==4O E<EF5<4 >>=FD>?O < >F5=>< GE?5645<>EF< 
EFG45=F>6.  

�D< <E?>?L7>64=<< FD44<F<>==>= E<EF5<O >>=FD>?O < >F5=>< GE?5645<>-
EF< EFG45=F>6 4>?6=O 5OFL ?D54EF46?5=O >D<F5D<< 6OEF46?5=<O >F5=>> ?> G5-
FOD5E54??L=>= E<EF5<5 «>F?<G=>», «E>D>L>», «G4>6?5F6>D<F5?L=>», «=5G4>6?5-
F6>D<F5?L=>». 

 
�D<F5D<< >F5=<64=<O D57G?LF4F>6 >5GG5=<O 

&45?<F4 7 
�F5=>4 �D<F5D<< >F5=<64=<O 

�OE>><<= GD>65=L 
«5» 

(>F?<G=>) 
 

>F5=>G «>F?<G=>» 74E?G6<645F EFG45=F, >E6><6L<= 7=4=<O, G<5-
=<O, >><?5F5=F<< < F5>D5F<G5E><= <4F5D<4? 557 ?D>55?>6; 6O?>?-
=<6L<= 6E5 7444=<O, ?D54GE<>FD5==O5 GG55=O< ??4=>< =4 6OE>-
>>< >4G5EF65==>< GD>6=5; ?D4>F<G5E><5 =46O>< ?D>D5EE<>=4?L=>-
7> ?D<<5=5=<O >E6>5==OE 7=4=<= ED>D<<D>64=O. 

%D54=<= GD>65=L «4» 
(E>D>L>) 

 

>F5=>G «E>D>L>» 74E?G6<645F EFG45=F, ?D4>F<G5E>< ?>?=>EFLN 
>E6><6L<= 7=4=<O, G<5=<O, >><?5F5=F<< < F5>D5F<G5E><= <4F5D<-
4?, GG55=O5 7444=<O =5 >F5=5=O <4>E<<4?L=O< G<E?>< 54??>6, 6 
>E=>6=>< ED>D<<D>64? ?D4>F<G5E><5 =46O><. 

�>D>7>6O= GD>65=L 
«3» (G4>6?5F6>D<-

F5?L=>) 
 

>F5=>G «G4>6?5F6>D<F5?L=>» 74E?G6<645F EFG45=F, G4EF<G=> E 
?D>55?4<< >E6><6L<= 7=4=<O, G<5=<O, >><?5F5=F<< < F5>D5F<G5-
E><= <4F5D<4?, <=>7<5 GG55=O5 7444=<O ?<5> =5 6O?>?=<?, ?<5> 
>=< >F5=5=O G<E?>< 54??>6 5?<7><< > <<=<<4?L=><G, =5>>F>DO5 
?D4>F<G5E><5 =46O>< =5 ED>D<<D>64=O. 
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�<=<<4?L=O= GD>-
65=L «2» (=5G4>6?5-

F6>D<F5?L=>) 

>F5=>G «=5G4>6?5F6>D<F5?L=>» 74E?G6<645F EFG45=F, =5 >E6><6L<= 
7=4=<O, G<5=<O, >><?5F5=F<< < F5>D5F<G5E><= <4F5D<4?, GG55=O5 
7444=<O =5 6O?>?=<?, ?D4>F<G5E><5 =46O>< =5 ED>D<<D>64=O. 

�D< F5EF<D>64=<< EFG45=F>6 <E?>?L7G5FEO E<EF5<4 >F5=<64=<O «74G5F», 
«=574G5F». �D< ?D46<?L=>< >F65F5 =4 F5EF>6O5 7444=<O 6 >5N5<5 60% < 5>?55 
EF46<FLEO «74G5F», 4 6 E?GG45 ?D46<?L=>7> >F65F4 =4 7444=<5 - <5=55 60% EF4-
6<FLEO «=574G5F». 

 
7. 'G55=>-<5F>4<G5E>>5 < <=D>D<4F<>==>5 >55E?5G5=<5 4<EF<??<=O 

7.1 �E=>6=4O ?<F5D4FGD4 

1. �E<4=O?>6, �.%. ''���� � ���$�%$�$�:'G55=>-<5F>4<G5E>>5 
?>E>5<5 /�.%. �E<4=O?>6; $>EE<=E><= 7>EG44DEF65==O= 47D4D=O= G=<65DE<F5F - 
�%%� <<5=< �. �. &<<<DO7564 (�>E>64). 4 -?5>FD>=. F5>EF>6O5 44=. 4 
�>E>64: $��'-�%%� <<5=< �.�. &<<<DO7564, 2021. 4 81 E. 4 �>??5>F<O: 
'G55=4O < GG55=>-<5F>4<G5E>4O ?<F5D4FGD4. 4 $56<< 4>EFG?4: 
http://elib.timacad.ru/dl/local/s20210621.pdf. - �47?. E F<FG?. M>D4=4. - -?5>FD>=. 
65DE<O ?5G. ?G5?<>4F<<. 4 <URL:http://elib.timacad.ru/dl/local/s20210621.pdf>. 

2. �>D>?L>>64, %. �. 'G5=<5 > 7<4D>ED5D5 : GG55=>-<5F>4<G5E>>5 ?>E>-
5<5 / %. �. �>D>?L>>64, %. �. �4=<E<4=<>>6. 4 %4=>F-�5F5D5GD7 : %�5�'& <<. 
�.�. �>=G-�DG56<G4, 2020. 4 43 E. 4 &5>EF : M?5>FD>==O= // �4=L : M?5>FD>==>-
5<5?<>F5G=4O E<EF5<4. 4 URL: https://e.lanbook.com/book/180023  

7.2 �>?>?=<F5?L=4O ?<F5D4FGD4 

1. �?L<=<G, �<F4?<= �<F4?L56<G. �D4>F<>G< ?> 7<4D>?>7<G5E><< D4EG5-
F4<: ?D4>F<>G< / �. �. �?L<=<G, �.�. �4G<>64, �.�. �D>L?O>>6; $>EE<=E><= 
7>EG44DEF65==O= 47D4D=O= G=<65DE<F5F - �%%� <<5=< �. �. &<<<DO7564 
(�>E>64). 4 -?5>FD>=. F5>EF>6O5 44=. 4 �>E>64: $��'-�%%� <<. �. �. &<<<-
DO7564, 2020. 4 212 E.: il., F45?. 4 �>??5>F<O: 'G55=4O < GG55=>-<5F>4<G5E>4O 
?<F5D4FGD4. 4 $56<< 4>EFG?4: http://elib.timacad.ru/dl/local/s20213001.pdf. - �47?. 
E F<FG?. M>D4=4. - -?5>FD>=. 65DE<O ?5G. ?G5?<>4F<<. 4 
<URL:http://elib.timacad.ru/dl/local/s20213001.pdf>. 

2. �G7L<<=, �. �. $<7<>4 �5<?<. %FD>5=<5 4F<>ED5DO < 7<4D>ED5DO �5<?< 
: GG55=>5 ?>E>5<5 / �. �. �G7L<<=. 4 �>6>E<5<DE> : %�'�<&, 2017. 4 269 E. 4 
ISBN 978-5-906948-49-6. 4 &5>EF : M?5>FD>==O= // �4=L : M?5>FD>==>-
5<5?<>F5G=4O E<EF5<4. 4 URL: https://e.lanbook.com/book/157315 

3. �E<4=O?>6, �45<? %G4GL56<G. �<4D>?>7<O 6 ?D<D>4>?>?L7>64=<<. '. 3. 
�=65=5D=4O 7<4D>?>7<O: GG55=<> / �. %. �E<4=O?>6, �. �. �D>L?O>>6, �. �. 
�GD4M5=>>64; $>EE<=E><= 7>EG44DEF65==O= 47D4D=O= G=<65DE<F5F - �%%� 
<<5=< �. �. &<<<DO7564 (�>E>64). 4 -?5>FD>=. F5>EF>6O5 44=. 4 �>E>64: 
$��'-�%%� <<. �. �. &<<<DO7564, 2019. 4 252 E. 4 �>??5>F<O: 'G55=4O < 
GG55=>-<5F>4<G5E>4O ?<F5D4FGD4. 4 $56<< 4>EFG?4 : 
http://elib.timacad.ru/dl/local/umo193.pdf. - �47?. E F<FG?. M>D4=4. - -?5>FD>=. 65D-
E<O ?5G. ?G5?<>4F<< . - https://doi.org/10.34677/2018.193. 4 
<URL:http://elib.timacad.ru/dl/local/umo193.pdf>. 
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7.3 �>D<4F<6=O5 ?D46>6O5 4>FO 

1. �?D545?5=<5 >E=>6=OE D4EG5F=OE 7<4D>?>7<G5E><E E4D4>F5D<EF<>. %� 
33-101-2003. �.: �>EEFD>= $>EE<<, 2004. 3 73 E. 

2.  �>E>5<5 ?> >?D545?5=<N D4EG5F=OE 7<4D>?>7<G5E><E E4D4>F5D<EF<> - �: 
�<4D><5F5><744F,1984. 3 448 E. 

7.4 �5F>4<G5E><5 G>474=<O, D5>><5=44F<< < 4DG7<5 <4F5D<4?O > 
74=OF<O< 

1. �?L<=<G �.�. �<4D>?>7<O: <5F>4<G5E><5 G>474=<O ?> =4?<E4=<N 
>GDE>6>= D45>FO. �.: $��'-�%%� <<5=< �.�. &<<<DO7564, 2014. 3 17 E. 

2. �5F>4<G5E><5 G>474=<O ?> >F5=>5 6?<O=<O E>7O=EF65==>= 45OF5?L-
=>EF< =4 EF>> ED54=<E 5>?LL<E D5> < 6>EEF4=>6?5=<N 57> E4D4>F5D<EF<>. 3 �: 
�<4D><5F5><744F,1986. 3 130 E. 

3. �5F>4<G5E><5 D5>><5=44F<< ?> >F5=>5 >4=>D>4=>EF< 7<4D>?>7<G5-
E><E E4D4>F5D<EF<> < >?D545?5=<N <E D4EG5F=OE 7=4G5=<= ?> =5>4=>D>4=O< 
44==O<. - %4=>F-�5F5D5GD7. �74-6> �' ���, 2010. -162 E. 

4. $5>><5=44F<< ?> EF4F<EF<G5E><< <5F>44< >4=>D>4=>EF< ?D>EFD4=-
EF65==> 3 6D5<5==OE >>?554=<= D5G=>7> EF>>4. 3 �: �<4D><5F5><744F,1984. 3 78 
E. 

8. �5D5G5=L D5EGDE>6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< 
«�=F5D=5F», =5>5E>4<<OE 4?O >E6>5=<O 4<EF<??<=O 

� D4<>4E GG55=>7> >GDE4 EFG45=FO <E?>?L7GNF E?54GNM<5 547O 44==OE 
<=>7>?5F=<E M>EFD5<4?L=OE 7<4D>?>7<G5E><E < <5F5>D>?>7<G5E><E =45?N45=<= 
EF4=F<= < ?>EF>6: «$5EGDEO ?>65DE=>EF=OE 6>4»; «�E=>6=O5 7<4D>?>7<G5E><5 
E4D4>F5D<EF<>< 3 ��%»; «�>EG44DEF65==O= 6>4=O= >444EFD 3 ���»; «�E5D>E-
E<=E>>7> =4GG=> 3 <EE?54>64F5?LE>>7> <=EF<FGF4 7<4D><5F5>D>?>7<G5E>>7> <=-
D>D<4F<< (������� 3 �&�)». 

 �>7<>65= >?5D4F<6=O= >5<5= <=D>D<4F<5= E >F5G5EF65==O<< < 74DG-
556=O<< 6G74<<, ?D54?D<OF<O<< < >D74=<74F<O<<:  

1) %4=F �=EF<FGF4 6>4=OE ?D>5?5< $�� 3 www.iwp.ru (>F>DOFO= 4>-
EFG?); 

2) %4=F �?46=>= 75>D<7<G5E>>= >5E5D64F>D<< <<. �.�. �>5=>>64 (���) 
3 www.voeikovmgo.ru (>F>DOFO= 4>EFG?); 

3) %4=F �E5E>N7=>7> =4GG=>-<EE?54>64F5?LE>>7> <=EF<FGF4 7<4D><5-
F5>D>?>7<G5E>>= <=D>D<4F<< 3 �<D>6>= F5=FD 44==OE 3 www.meteo.ru (>F>DO-
FO= 4>EFG?); 

4) %4=F �>EG44DEF65==>7> 7<4D>?>7<G5E>>7> <=EF<FGF4 (���) - 
www.hydrology (>F>DOFO= 4>EFG?); 

5) %4=F $545D4?L=>= E?G65O ?> 7<4D><5F5>D>?>7<< <>=<F>D<=7G 
>>DG64NM5= ED54O ($>E7<4D><5F) 3 www.meteoinfo.ru (>F>DOFO= 4>EFG?). 

&4>65 �>7<>65= >?5D4F<6=O= >5<5= <=D>D<4F<5= �45EE><< 7>EG44D-
EF65==O< M>>?>7<G5E><< G=<65DE<F5F>< (��-�'), 
http://www.ogmi.farlep.odessa.ua/.; �E5D>EE<=E><< =4GG=>-<EE?54>64F5?LE><< <=-
EF<FGF>< E5?LE>>E>7O=EF65==>= <5F5>D>?>7<< (����%%�), 
http://cxm.obninsk.org/; $>EE<=E><< =4F<>=4?L=O< >><<F5F>< E>45=EF6<O �D>-
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7D4<<5 ��� ?> >>DG64NM5= ED545 (�� «.������»), http://www.unepcom.ru/ 
< 4D. 

�?<<4F<G5E>4O < <5F5>D>?>7<G5E>4O <=D>D<4F<O 4>EFG?=4 =4 <=F5D=5F-
E4=F4E: http://www.meteoinfo.ru/, http://www.gismete>.ru/, 
http://www.webmeteo.ru/. �?O MF>7> <>7GF 5OFL <E?>?L7>64=O <=D>D<4F<>==O5, 
E?D46>G=O5 < ?><E>>6O5 E<EF5<O: Rambler, Google, /ndex < 4D. 
 

9. �5D5G5=L ?D>7D4<<=>7> >55E?5G5=<O < <=D>D<4F<>==OE E?D46>G=OE 
E<EF5< 

�D< <7GG5=<< ?D4>F<G5E>>7> >GDE4 4<EF<??<=O «'G5=<5 > 7<4D>ED5D5» 
<>6=> <E?>?L7>64FL E?54GNM<5 ?D>7D4<<=O5 ?D>4G>FO:  

1) �><?LNF5D=O5 ?D>7D4<<O «Open Office»; 
2) �><?LNF5D=4O ?D>7D4<<4 «Surfer 8.0», ?D54=47=4G5==4O 4?O 4=4?<74 < 

<>45?<D>64=<O 75<=>= ?>65DE=>EF<. 
&45?<F4 8 

�5D5G5=L ?D>7D4<<=>7> >55E?5G5=<O 
 

7 
?/? 

�4<<5=>64=<5  
D4745?4 GG55=>=  

4<EF<??<=O  

�4<<5=>64=<5 
?D>7D4<<O 

&<?  
?D>7D4<<O 

�6F>D 
�>4  

D47D45>F>< 

1 �F<>ED5D=O5 >E44>< Open Office D4EG5F=4O 
Apache Software 

Foundation 
2017 

2 �E?4D5=<5 Open Office D4EG5F=4O 
Apache Software 

Foundation 
2017 

3 $5G=>= EF>> Surfer 8.0 <>45?<DG5<4O Golden SoftWore 2008 
 

10. �?<E4=<5 <4F5D<4?L=>-F5E=<G5E>>= 547O, =5>5E>4<<>= 4?O 
>EGM5EF6?5=<O >5D47>64F5?L=>7> ?D>F5EE4 ?> 4<EF<??<=5  

&45?<F4 9 

%6545=<O >5 >55E?5G5==>EF< E?5F<4?<7<D>64==O<< 4G4<F>D<O<<, >4-
5<=5F4<<, ?45>D4F>D<O<<  

�4<<5=>64=<5 E?5F<4?L=OE* ?><5M5-
=<= < ?><5M5=<= 4?O E4<>EF>OF5?L-
=>= D45>FO (7 GG55=>7> >>D?GE4, 7 

4G4<F>D<<) 

�E=4M5==>EFL E?5F<4?L=OE ?><5M5=<= < ?>-
<5M5=<= 4?O E4<>EF>OF5?L=>= D45>FO** 

1 2 

'G55=4O ?45>D4F>D<O  (728 GG55=O= 
>>D?GE, 4G4.7 114) 

 

1. �><?LNF5D 6 E5>D5 (�=6.7210124000602036) 
2. �><?LNF5D 6 E5>D5 (�=6.7210124000602037) 
3. �4FG<> E>?=5G=>= D44<4F<< 6450 
(�=6.7210134000000492) 
4. �5F5>EF4=F<O ?D>6>4=4O Vantage Pro2 
(�=6.7210134000000493) 
5. �>E>4 3-E M?5<5=F=4O 4/D?><4EF5D4 
(�=6.7410136000000628) 
6. �><?LNF5D 6 E5>D5 (�=6.7210134000001203) 
7. �><?LNF5D 6 E5>D5 (�=6.7210134000001204) 
8. �5F5>EF4=F<O 55E?D>6>4=4O Vantage Pro2 
(�=6.7410124000602814) 
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9. �$' HP LaserJetPro M1212 nf MFP 
(�=6.7210134000000839) 
10. �>E<<5FD WTW Oxi 315i/set 2B10-0017 
(�=6.7410124000602819) 
11. �?>FF5D (�=6.7210134000001277) 
12. �D<=F5D HP 1022 (�=6.7210134000001205)  
13. %>4=5D HP 3500C (�=6.7210134000001068) 
14. �><?LNF5D HP Compad 6300 Pro21.5// 

(�=6.7210134000000958) 
15. �>=>5?>> Asus (�=6.7210134000001358) 
16. �D<=F5D Canon (�=6.7210134000001357) 
17. %F>?O 12 LF. 
18. %FG?LO 12 LF. 
19. �<4D><5F5>D>?>7<G5E><5 ?D<5>DO (54D>7D4D, 
F5D<>7D4D, 7<7D>7D4D, ?E<ED><5FD, 4>F<=><5FD) 

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74=O-
F<= E5<<=4DE>>7> F<?4 (728 GG. >>D?GE, 
4G4. 7116) 

1. �4DFO 12 LF. 
2. �>E>4 <5?>64O 1 LF. 
3. �<4D><5F5>D>?>7<G5E>>5 >5>DG4>64=<5 (>E44-
>><5D, ??N6<>7D4D, D?N75D, 7<7D><5FD, ?E<ED>-
<5FD, 54D>7D4D, 7<4D><5FD<G5E>4O 65DFGL>4) 

�<5?<>F5>4, G<F4?L=O= 74?        (728 GG. 
>>D?GE, 4G4. 7223) 

 

11. �5F>4<G5E><5 D5>><5=44F<< EFG45=F4< ?> >E6>5=<N 4<EF<??<=O 
�<4O < D>D<O >FD45>F>< ?D>?GM5==OE 74=OF<= 

(F5>GM57> >>=FD>?O 7=4=<=) 
�D< <7GG5=<< >464>7> D4745?4 4<EF<??<=O ?D>6>4<FEO F5>GM<= >>=FD>?L 

7=4=<= E F5?LN ?D>65D>< < >>DD5>F<< E>44 >E6>5=<O F5>D5F<G5E>>7> <4F5D<4?4 
< ?D4>F<G5E><E G<5=<= < =46O>>6. &5>GM<= >>=FD>?L 7=4=<= ?D>6>4<FEO ?> 
7D4D<>G 6 G4EO ?D4>F<G5E><E 74=OF<= ?> >E=>6=><G D4E?<E4=<N. 

�E?< 6O =5 ?D>L?< F5>GM<= >>=FD>?L 7=4=<=, 6O ?D>4>?645F5 GG<FLEO < 
<<55F5 ?D46> E4464FL E?54GNM<= D4745? ?> MF>= 4<EF<??<=5.  

� E?GG45 ?D>?GE>4 F5>GM57> >>=FD>?O 7=4=<= (?D4>F<G5E>>7> 74=OF<O) ?> 
G646<F5?L=>= ?D<G<=5 6O 4>?GE>45F5EL > 57> ?D>E>645=<N (?<>6<44F<< 744>?-
65==>EF<) ?> E>7?4E>64=<N E ?D5?>4464F5?5< < ?D< ?D54>EF46?5=<< 6 45>4=4F 
>?D4644F5?L=>7> 4>>G<5=F4 4?O ?>?GG5=<O 4>?GE>4.  

�D< ?D>?GE>5 F5>GM57> >>=FD>?O 7=4=<= 557 G646<F5?L=>= ?D<G<=O 6O 
4>?GE>45F5EL > E5EE<< F>?L>> ?>E?5 ?<>6<44F<< 744>?65==>EF<.  

 
$5>><5=44F<< EFG45=FG ?> >D74=<74F<< E4<>EF>OF5?L=>=  

GG55=>= D45>FO 
�654=56=> G<F4=F5. '<F4=F5 >464O= 45=L =5E>>?L>> (4-6) EFD4=<F =4GG-

=>= ?<F5D4FGDO, 6 F>= <?< <=>= <5D5, E6O74==>= E GG55=O<< 4<EF<??<=4<<. 
�D><5 F>7>, G<F4=F5 6=<<4F5?L=> < 64G<G<6> 5654=56=> 10-15 EFD4=<F =4GG=>= 
< =4GG=>-?>?G?OD=>= ?<F5D4FGDO. �EU, GF> 6O G<F45F5, 3 MF> <=F5??5>FG4?L=O= 
D>= 64L57> GG5=<O. '5< 5>74G5 MF>F D>=, F5< ?57G5 GG<FLEO. '5< 5>?LL5 G<F4-
5LL 5654=56=>, F5< 5>?LL5 5G45F D575D6 6D5<5=<. �5 >F>?44O64=F5 MFG D45>FG 
=4 746FD4. &>, GF> G?GM5=> E57>4=O, =<>>744 =5 6>7<5EF<LL 746FD4.  

'<5=F5 >?D545?<FL E<EF5<G E6>57> G<EF65==>7> FDG44. �?46=>5 =44> G<5FL 
D4E?D545?OFL 6> 6D5<5=< F4>, GF>5O >=> =5 >F>46<74?>EL =4 744=<= ??4= 6F>D>-
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EF5?5==O<. �?46=O< =44> 74=<<4FLEO 5654=56=>. '<5=F5 =4=F< ?> 7?46=O< 
=4GG=O< ?D>5?5<4< DG=44<5=F4?L=O5 >=<7<, =4GG=O5 FDG4O, ?5D6><EF>G=<><. 

'<5=F5 E4<><G E555 E>474FL: =5F. 'G<F5EL ?D>O6?OFL D5L<F5?L=>EFL, >F-
>47O64FLEO >F E>5?47=>6, >>F>DO5 <>7GF ?D<=5EF< 5>?LL>= 6D54.  

'G<F5EL >5?57G4FL E6>= G<EF65==O= FDG4 6 5G4GM5<. �?O MF>7> =44> ?D<-
6O>=GFL > E<EF5<5 74?<E=OE >=<65>. �4644O <>65F 5OFL ?D54=47=4G5=4 4?O 74-
?<E< OD><E, E>FO 5O <<<>?5F=OE <OE?5= (>>F>DO5 <<5NF «?D<6OG>G» ?D<E>-
4<FL 6 7>?>6G D47 < 5>?LL5 =5 6>76D4M4FLEO) ?> >4=>= <7 ?D>5?5<, =44 >>F>DO-
<< FO 4G<45LL. 

�?O >464>= D45>FO <M<F5 =4<5>?55 D4F<>=4?L=O5 ?D<U<O G<EF65==>7> 
FDG44. �75574= FD4D4D5F4 < L45?>=4. �5 64?5= 6D5<5=< =4 F>, GF>5O 7?G5>>> 
>E<OE?<FL EGM=>EFL D4>F>6, O6?5=<=, 74>>=><5D=>EF5=, E >>F>DO<< 6O <<55F5 
45?>. '5< 7?G565 6O 64G<4?<EL, F5< ?D>G=55 >F?56<FEO 6 ?4<OF<. �> F5E ?>D, 
?>>4 =5 >E<OE?5=>, =5 EF4D4=F5EL 74?><=<FL 3 MF> 5G45F =4?D4E=4O FD4F4 6D5<5-
=<.  

«�46FD4» 3 E4<O= >?4E=O= 6D47 FDG4>?N5<O. �<>>744 =5 >F>?44O64=F5 >4-
>GN-F> G4EFL D45>FO, >>F>DGN =44> 6O?>?=<FL E57>4=O, =4 746FD4.  

�5 ?D5>D4M4=F5 G<EF65==>7> FDG44 =<>>744, =< =4 >4<= 45=L. �> 6D5<O 
>4=<>G? =5 D4EEF464=F5EL E >=<7>=. �464O= 45=L 4>?65= >5>74M4FL 64E <=F5?-
?5>FG4?L=O<< F5==>EFO<<. 
 

12. �5F>4<G5E><5 D5>><5=44F<< ?D5?>4464F5?O< ?> >D74=<74F<< >5GG5=<O 
?> 4<EF<??<=5 

�D< ?D>6545=<< ?D4>F<G5E><E 74=OF<= ?> 4<EF<??<=5 «'G5=<5 > 7<4D>-
ED5D5» =5>5E>4<<> >D<5=F<D>64FLEO =4 E>6D5<5==O5 >5D47>64F5?L=O5 F5E=>?>-
7<< ?GF5< L<D>>>7> <E?>?L7>64=<O 4>EF<65=<= ?5447>7<G5E>>= < 47D4D=>= 
=4G><, 4 F4>65 ?5D54>6>7> >?OF4. 

%4<>EF>OF5?L=4O D45>F4 4>?6=4 5OFL =4?D46?5=4 =4 <7GG5=<5 =4>>??5=-
=OE 7=4=<= < E>6D5<5==OE =4GG=OE 4>EF<65=<= ?D< 4=4?<75 < >F5=>5 >>?<G5-
EF65==OE < >4G5EF65==OE E4D4>F5D<EF<> 6>4=OE D5EGDE>6 7<4D>ED5DO �5<?<, 
?>76>?ONM<E 7D4<>F=> <E?>?L7>64FL 5EF5EF65==O5 74>>=O ?D<D>4O 6 ?D>D5E-
E<>=4?L=>= 45OF5?L=>EF<. 

�>=FD>?L >E6>5=<O 4<EF<??<=O >EGM5EF6?O5FEO E <E?>?L7>64=<5< FD44<-
F<>==>= E<EF5<O >>=FD>?O < >F5=>< GE?5645<>EF< EFG45=F>6 ?> G5FOD5E54??L-
=>= E<EF5<5 «>F?<G=>», «E>D>L>», «G4>6?5F6>D<F5?L=>», «=5G4>6?5F6>D<F5?L-
=>», <?< ?<5> «74G5F», «=574G5F». 

�E=>6=O<< 6<44<< ?>MF4?=>7> >>=FD>?O D57G?LF4F>6 >5GG5=<O O6?ONFEO: 
6E>4=>= (6 =4G4?5 <7GG5=<O 4<EF<??<=O), F5>GM<= >>=FD>?L (=4 74=OF<OE < ?> 
?D>=45==O< D4745?4<), ?D><56GF>G=O= >>=FD>?L (M>74<5=).  

$>D<O >>=FD>?O: >>=FD>?L 74 6O?>?=5=<5< >GDE>6>= D45>FO, GEF=O= 
>?D>E, F5EF>6O= >>=FD>?L, M>74<5=. 

�E5 6<4O GG55=OE D45>F 4>?6=O 5OFL 6O?>?=5=O F>G=> 6 ED>><, ?D54G-
E<>FD5==O5 ?D>7D4<<>= >5GG5=<O. �E?< >4>>5-?<5> <7 GG55=OE 7444=<= =5 6O-
?>?=5=> 6 ED>> (EFG45=F ?D>?GEF<? >5NOE=5=<5 6O?>?=5=<O >GDE>6>= D45>FO, 
F5EF>6O= >>=FD>?L < F.?.), F> 74 44==O= 6<4 GG55=>= D45>FO =5>5E>4<<> 6O?>?-
=<FL < >FG<F4FLEO > ?D>45?4==>= D45>FO. 
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      $�&����/ 

=4 D45>GGN ?D>7D4<<G 4<EF<??<=O «'G5=<5 > 7<4D>ED5D5» 
  

���� �� ?> =4?D46?5=<N 05.03.06 ->>?>7<O < ?D<D>4>?>?L7>64=<5, 

=4?D46?5==>EFL �7D>M>>?>7<O  

(>64?<D<>4F<O 6O?GE>=<>4 3 54>4?46D) 

 

�47GF<=>= �4F4?<5= �?44<<<D>6=>=, 4>F5=F>< >4D54DO M>>?>7<< $���' �� 7. 

�>E>6O «$>EE<=E><= 7>EG44DEF65==O= 47D4D=O= G=<65DE<F5F 3 �>E>>6E>4O E5?LE>>E>7O=-

EF65==4O 4>445<<O <<5=< �.�. &<<<DO7564» (44?55 ?> F5>EFG D5F5=75=F), ?D>6545=4 D5F5=7<O 

D45>G5= ?D>7D4<<O ?> 4<EF<??<=5 «'G5=<5 > 7<4D>ED5D5» ���� �� ?> =4?D46?5=<N 

05.03.06 ->>?>7<O < ?D<D>4>?>?L7>64=<5, =4?D46?5==>EF< �7D>M>>?>7<O, D47D45>F4==>= 6 

$���' �� «$>EE<=E><= 47D4D=O= G=<65DE<F5F 3 �%%� <<5=< �.�. &<<<DO7564», =4 >4D54-

D5 7<4D46?<><, 7<4D>?>7<< < G?D46?5=<O 6>4=O<< D5EGDE4<< (D47D45>FG<> - �GD4M5=>>64 

�4F4?LO �?44<<<D>6=4, 4>F5=F >4D54DO 7<4D46?<><, 7<4D>?>7<< < G?D46?5=<O 6>4=O<< D5-

EGDE4<<, >4=4<44F F5E=<G5E><E =4G>). 

$4EE<>FD56 ?D54EF46?5==O5 =4 D5F5=7<N <4F5D<4?O, D5F5=75=F ?D<L5? > E?54GNM<< 

6O6>44<: 

1. �D54NO6?5==4O D45>G4O ?D>7D4<<4 4<EF<??<=O «'G5=<5 > 7<4D>ED5D5» (44?55 ?> 

F5>EFG �D>7D4<<4) E>>F65FEF6G5F FD55>64=<O< $��% ?> =4?D46?5=<N 05.03.06 ->>?>7<O < 

?D<D>4>?>?L7>64=<5. �D>7D4<<4 E>45D6<F 6E5 >E=>6=O5 D4745?O, E>>F65FEF6G5F FD55>64-

=<O< > =>D<4F<6=>-<5F>4<G5E><< 4>>G<5=F4<.  

2. �D54EF46?5==4O 6 �D>7D4<<5 4>FG4?L=>EFL GG55=>= 4<EF<??<=O 6 D4<>4E D54?<-

74F<< ���� �� =5 ?>4?56<F E><=5=<N 3 4<EF<??<=4 >F=>E<FEO > 547>6>= G4EF< GG55=>7> 

F<>?4 3 �1.�.26. 

3. �D54EF46?5==O5 6 �D>7D4<<5 F5?< 4<EF<??<=O E>>F65FEF6GNF FD55>64=<O< 

$��% =4?D46?5=<O 05.03.06 ->>?>7<O < ?D<D>4>?>?L7>64=<5. 

4. � E>>F65FEF6<< E �D>7D4<<>= 74 4<EF<??<=>= «'G5=<5 > 7<4D>ED5D5» 74>D5??5=> 2 

>><?5F5=F<<. �<EF<??<=4 «'G5=<5 > 7<4D>ED5D5» < ?D54EF46?5==4O �D>7D4<<4 E?>E>5=4 

D54?<7>64FL <E 6 >5NO6?5==OE FD55>64=<OE. 

5. $57G?LF4FO >5GG5=<O, ?D54EF46?5==O5 6 �D>7D4<<5 6 >4F57>D<OE 7=4FL, G<5FL, 

6?445FL E>>F65FEF6GNF E?5F<D<>5 < E>45D64=<N 4<EF<??<=O < 45<>=EFD<DGNF 6>7<>6-

=>EFL ?>?GG5=<O 74O6?5==OE D57G?LF4F>6. 

6. �5M4O FDG4>U<>>EFL 4<EF<??<=O «'G5=<5 > 7<4D>ED5D5» E>EF46?O5F 5 74GUF=OE 

54<=<FO (180 G4E>6). 

7.  �=D>D<4F<O > 674<<>E6O7< <7GG45<OE 4<EF<??<= < 6>?D>E4< <E>?NG5=<O 4G5?<-

D>64=<O 6 E>45D64=<< 4<EF<??<= E>>F65FEF6G5F 45=EF6<F5?L=>EF<.  �<EF<??<=4 «'G5=<5 > 

7<4D>ED5D5» 674<<>E6O74=4 E 4DG7<<< 4<EF<??<=4<< ���� �� < 'G55=>7> ??4=4 ?> =4?D46-

?5=<N 05.03.06 ->>?>7<O < ?D<D>4>?>?L7>64=<5» < 6>7<>6=>EFL 4G5?<D>64=<O 6 E>45D64=<< 

>FEGFEF6G5F. �>E>>?L>G 4<EF<??<=4 =5 ?D54GE<4FD<645F =4?<G<5 E?5F<4?L=OE FD55>64=<= > 

6E>4=O< 7=4=<O<, G<5=<O< < >><?5F5=F<O< EFG45=F4, E>FO <>65F O6?OFLEO ?D54L5EF6GNM5= 

4?O E?5F<4?L=OE, 6 F>< G<E?5 ?D>D5EE<>=4?L=OE 4<EF<??<=, <E?>?L7GNM<E 7=4=<O 6 >5?4EF< 

?D<D>4>>5GEFD>=EF64 < 6>4>?>?L7>64=<O 6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 54>4?46D4 ?> 

44==><G =4?D46?5=<N ?>47>F>6><. 

8. �D54EF46?5==4O �D>7D4<<4 ?D54?>?4745F <E?>?L7>64=<5 E>6D5<5==OE >5D47>64-

F5?L=OE F5E=>?>7<=, <E?>?L7G5<O5 ?D< D54?<74F<< D47?<G=OE 6<4>6 GG55=>= D45>FO. $>D<O 

>5D47>64F5?L=OE F5E=>?>7<= E>>F65FEF6GNF E?5F<D<>5 4<EF<??<=O. 

9. �<4O, E>45D64=<5 < FDG4>U<>>EFL E4<>EF>OF5?L=>= D45>FO EFG45=F>6, ?D54EF46-

?5==O5 6 �D>7D4<<5, E>>F65FEF6GNF FD55>64=<O< > ?>47>F>6>5 6O?GE>=<>>6, E>45D64M<<-

EO 6> $��% �� =4?D46?5=<O 05.03.06 ->>?>7<O < ?D<D>4>?>?L7>64=<5. 

 




